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QUESTION 1

In the ICD-9-CM classification system, severe shock due to third-degree burns sustained in an industrial accident would
be coded as a(n) 

A. current injury. 

B. late effect. 

C. mechanical complication of an internal prosthetic device. 

D. abnormal reaction of the body to the presence of an internal prosthetic device. 

Correct Answer: A 

 

QUESTION 2

MMBC receives the best reimbursement for well child visits from Make Me Better Clinic (MMBC) provides well child
visits and childhood immunizations for four insurance companies. Data on the services they provided and the
reimbursement they received from the four companies are listed in the two tables below: 
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A. Lifecare. 

B. Getwell. 

C. SureHealth. 

D. BeHealthy. 

Correct Answer: B 

 

QUESTION 3

A patient who is HIV positive and currently asymptomatic is admitted with a compound fracture of the tibia. The patient
was treated previously for pneumocystis carinii pneumonia. Given the following codes, which is the correct coding and
sequencing? 

A. 823.90, V08 

B. 823.90, 042 

C. 823.80, V08, 136.3 

D. 823.80, 042 

Correct Answer: B 

 

QUESTION 4

Decortication of left lung 

A. 01638-LT 

B. 00542-LT 

C. 00546-LT 

D. 00500-LT 

Correct Answer: B 
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QUESTION 5

The researchers in the previous question wonder if there is any relationship between patient age and average fasting
blood sugar. The best data display tool the researchers could use to look for a possible relationship would be a 

A. pareto diagram. 

B. line graph. 

C. scatter diagram. 

D. cause and effect diagram. 

Correct Answer: C 
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